REMACO

(© COPYRIGHTS 1998 «REMACO TECHNOLOGIES PTE LTD

Website: www.remacotech.com

Installation Guide (For BKT-529)

V11

BKT-529

Important Notes:

All Plasma / LCD TV brackets are thoroughly inspected and fully tested operational in factory.
We accept no liability whatsoever for any losses due to improper operation, or any unauthorized alternation.
All trademarks contained in this installation guide are the property of their respective owners

Installation Tools

I —T —

\PQ___Q___.Q

S=° é\

S

-

E TE ST
\\

BKT-529
Video Wall Solutions

- Orientation Mounting : Landscape
or Portrait
- 8 points Micro-Adjustment
- Push Pop-Out System
- Security screws to avoid accidents
- Panel Screen Size: 45” to 65”
- Maximum Load: 70kg
- VESA Complied: 200x200 to 400x400mm
and 600x400mm(with Adaptor)
- Colour : Black

The following tools may be required depending on your installation.

=

Electronic Stud Finder Pencil Protective Eyewear Portable Drill 1/4” or 3/8” Drill Bit
®
Level 2" Socket Head Screwdriver Socket Wrench




BKT-529

Parts List

o oc—o—o——eo

-  ecc—oc—oc—om @@
[ mec—oe—oe—=0 ~+ occ—ooc—ec—om ./é@

g

(Qty 1 Each)

One-Latch Mounting Base -AA  (Qty 1) Left and Right Mounting Bracket-BB 600mmX400mm Adaptor-CC  (Qty 2)
A B C D E
M5 x 16mm Screw M5 x 30mm Screw M6 x 16mm Screw M6 x 30mm Screw M8 x 16mm Screw
(Qty 4) (Qty 4) (Qty 4) (Qty 4) (Qty 4)
F G H I J
§ § =) o
M8 x 30mm Screw M8 x 50mm Screw 16x6.2x1.5 Metal washer 13x8.2x5 Spacer 5mm Allen Key
(Qty 4) (Qty 4) (Qty 4) (Qty 8) (Qty 1)
K L M N )
. \ =) w
16x8.2x1.5 Metal washer 865 Lag Bolt Anchor 13x8.2x13 Spacer M8 x 15mm Screw
(Qty 6) (Qty 6) (Qty 6) (Qty 8) (Qty 4)  (Installed)

Video Wall Pop-Out Bracket is a customizable video wall mounting solution featuring multi-monitor stacking, open design,
and scissor mount extension. It has an extending scissor mount for easy installation,cable management and servicing.

Adjusting front and
after handle

Post-Installation Adjustments
Leveling, tilt and in-out adjustment
knobs make it easier than ever to
flush and level the flat-panels for
a seamless video wall.

Spring Lock
Simply push the mounting rails

in to lock or unlock the mount from
the closed position.

4 )
D
v\ (oY e Yo Y cmw Yo Y ew Yo N ..'

Adjusting upper and
lower handle

=L/
oD orDoOgcT——Do0 O FIN\S

-

(E/ eoC oo oo o0
@

Cable/Electrical Access Locking Safety Screws

s
((J EeorCoOo0CO0C OO0

Allows for easy cable access &, Prevent the flat-panel from
and power distribution installations. -‘ﬂ\]"" being removed or dislodged
< from the mount. Use for added
protection.




Types of Installation

BKT-529

2

2

Mounting to Wooden Studs




BKT-529

Step 1 - Installing the Mounting Brackets

Alignment line

After you have mounted the first bracket as described,
draw a horizontal line (the use of a laser leveller may help).

You can place the second bracket by tape measure
proceed in this way with the other brackets.

————— e

»

[¢]
» o}
o) o)
b 5
3 2
= 2
[o}
2 WS | S S S (S| S S JH

Screen Length .
Screen Length

g

S S—

Step 2 - Installing the Mounting Brackets

A VESA 100x100 to 400x400mm: Landscape A VESA 500x400 to 600x400mm: Landscape K

A+H/C+H/E/G

*For screen with
a hole pattern in

a pocket, spacer
go between
Assembly Adapter

Plate and screen.  Spacer

a hole pattern in

a pocket, spacer
B+H/D+H/F/G go between
Assembly Adapter

Plate and screen. Spacer @“ N

‘ *For screen with

I/N

b—— o oo




BKT-529

A VESA 200x600 to 400x600mm: Portrait

(1] K
5mm

*For screen with
a hole pattern in

a pocket, spacer
go between
Assembly Adapter

Plate and screen.  Spacer

ATHICHHIEIG

Step 3 - Mounting the Flat-Panel

- c—o—o—eo = ié@
- ce—c—o—eoc o i@

Wer——r—"\

sy
WEr—rr——r——

Note: / ;ﬂj /
These registers

must align prior to

installation.They are

factory set. Check
to determine proper
alignment

oo oo c—

Locks not included(accessory)




BKT-529

2
et
c
Q
€
=
(2]
=
©
<
c
o
et
L
©
et
(2]
c
=
(2
(@]
o
]
<
Q
(<]
et
»n

Adjustments +/-X
\oz‘-

Adjustments +/-Y

S

@ Adjustments +/-Z

N Adjustments +/-Z

Move Inward
Move outward

PUSH




BKT-529

Technical Specifications

267.0mm [10.5"1~277.0mm [10.9"]

510.0mm [20.0"]

203.2mm [8.0"]

35mm|[1.4"]

3

Bl ool OL Fooh 1=
il =
s 40 — |
ﬁ 22 5e
o '\‘_ oj‘_
=D e,
= = E g el e
i3 £ C%EEEE
0 S99 5w
o NOOojq-
[ NI RSl
[Q g)vp
e e —
% L ook 3o0of, Jooof 3

92.0mm [3.6"]~102.0mm [4.0"]

406.4mm [16.0"]

630mm [24.8"]

100mm [3.9"]

600mm [23.6"]

500mm [19.7"]

“&%
Ey)
I

Lo ]
o)
L

) I |
I I
N
) 1) I
o o E
[Q g] g
I |9
i il
‘O =) © =2 =] G—’i

q

q

i e il

282.0mm [11.1"]~292.0mm [11.5"]

108.0mm [4.2"]~118.0mm [4.6"]

@

—l
“ﬁ%%@
. ©

- —=—11]
= © Lo
)




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

